Lattice Multiplication

Use lattice multiplication to find each product.

6 6 5 4 5 2 6 1
1 1
4 3
1 7
2 2
2 5

6654 x 14122 = 5261 x 13725 =

9 4 5 9 8 4 4 3

8 8
5 7
7 4
5 8
8 7

9459 x 85758 = 8443 x 87487 =
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Lattice Multiplication Answers

Use lattice multiplication to find each product.

6 6 5 4 5 2 6 1
0 10 /0 /To 1, 0 0 /0 /To 1,4
0, 6, 6, 5/ 4 o, 5 2, 6/ 1
2 12 2 A1 ), L0 A1 10 /) 5
o 4, 4, 0 6 1 s, 6, 8, 3
0 10 /10 /10 /1, 3 10 4 0 4
3, 66, 5 4 2 sl 4 2 7
AT AT 0 A, L0 A1 10 A,
o 2,/ 2/ 0, 8 oo, 4l 2 2
LT A1 0 A, 2 10 5 0 s
o, 2/ 2/ 0, 8 o s, o 0 5
77 8 8 7 2 2 5
6654 x 14122 = 93,967,788 5261 x 13725 =72,207,225
9 4 5 9 8 4 4 3
713 4 A7 ) g 6 13713 12 /) g
8, 22, 0/ 2 14 2 2 4
s 2 2 4 s 5 2 2 A2 4
1/ 5,0, 5, 5 3 6, 8, 8,/ 1
6 /12 13 16 /] 4 3 0 T AT,
1 3, 8,5, 3 8, 2/ 6,/ 6/ 2
1+ 2 N2 4 A s 6 1313 12 /] ¢
1 VA Ve Ve o, 4, 2/ 2,/ 4
T3 AT A g 5 12 2 2 4
8, 2, 2,/ 0/ 2 s, 6, 8, 8,/ 1
49 2 2 2 7 4 1
9459 x 85758 = 811,184,922 8443 x 87487 = 738,652,741
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